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http://www.city.kita.tokyo.jp/d-shisetu/daichou/documents/7678.pdf
http://www.city.kita.tokyo.jp/d-shisetu/daichou/documents/7687.pdf
http://www.city.kita.tokyo.jp/d-shisetu/jutaku/doro-tochi/doro/shinse/documents/kitaindex.pdf

1/500 AO N
o : )
A B C D E = G H il
ANIN
1 1 7668
e /678
— 7687 /7688
7 7
3 3
00
5 N
©
N~
4 4
5 5
6 6
-23400.00 ‘ -23400.00
5 A > C > 7687 F F G - %

1 / 500

0] 10 20 50 100m



http://www.city.kita.tokyo.jp/d-shisetu/daichou/documents/7678.pdf
http://www.city.kita.tokyo.jp/d-shisetu/daichou/documents/7687.pdf
http://www.city.kita.tokyo.jp/d-shisetu/jutaku/doro-tochi/doro/shinse/documents/kitaindex.pdf

